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Operatsioonautomaat

1. Siinid
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D(n) = A(n) · y1' ∨ B(n) · y1'' ∨ C(n) · y1'''
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2. Registrid
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3. Loendurid
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4. Summaatorid

Paralleelsummaator

- komb. Σ  y8: Rg3 := Rg1 + Rg2
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- Acc. Σ y9: Rg1 := Rg1 + Rg2
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Mikrooperatsioonid:

- omistamine: Rg1 := Rg2

- väärtustamine:Rg1 := 0

- loendamine: L := L+1
L := L-1

- summeerimine: Rg1 := Rg1 + Rg2

- nihked: Rg1 := L1 (Rg1.0)
Rg1 := R2 (00.Rg1)

Loogikatingimused:

- avaldatavad loogikaavaldisena



N1. Lahutusskeem

1  0  1 1  0  1 0
A 1 0 1 1 0 1 0 1
B 0 1 0 1 1 0 1 1

0 1 0 1 1 0 1 0

ai bi bin bout si

0 0 0 0 0
0 0 1 1 1
0 1 0 1 1
0 1 1 1 0
1 0 0 0 1
1 0 1 0 0
1 1 0 0 0
1 1 1 1 1
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Leida

bout = f (ai, bi, bin)

Si = f (ai, bi, bin)

N2. Summaator

Leida

Si = f (ai, bi, cin)

Cout = f (ai, bi, cin)

Si = f (ai, bi, cin, cout)
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